1.A fL # B

B %

BoFE AL O R

A K OB OF AIEDESY
HAFRERTEEH RADEHREERTE

2.2 H A B

2 WM X & A ) Yhb—H—EX

RPEEDOERR EHERIWETERREET—T B4%FE25
I $‘ 0) % *ﬂ‘ s = 1= 2

( 14: % ) -F7KJEBEE§7K£*§E¥T§

I = O 15 Ny

(EAWABH) | 2P

TEDHER-F#H weagpsr

C #®# & )

I = 0 # =
(XK 0B =E)

TKEER- HEERUVEBRACE T RKESEORAKRUBRKOKERE

NHTIKE

1E BB b 2—N=4E (KD H)
N=1[8 GERR A RE)

BEREFREAHTKE

KEHIEEL2— N=4E (RFRKDH)
N=1E GEER AP BRE)

LBt S— N=4E (FFRKDH)
N=1E GEER AP BRE)

I LS — N=4E (BFRKDH)
N=1E GEER AP BRE)

BNFRE T KE

KERZE(BERE)N= 1E (BTSEREADH)

KERE (HSRE)N=23E (AiEHER)

BEEEHIKNIERER

MAKERE  N=96[E] (2402 % x F4E])

BRKERE  N=96[E] (240 % x F4[H])
EREKERE N=24[1= 240EHEEE x £1E)
(RHAMHE2249)
T - H SH6E4H 18 i SHTEIF 148
(& 17 8 M ) ik m
% #l & 27.51 %
2 #HN € % 3,245,000 M (FitaA)

( ) IEUNIRIZHDES




A #H R g
(B /)
# % ARLBITERE T EffH# (BLk)
T M A K R SF5HEI2A19H  (BEIZEDALL) 10,723,000 M
HEAT (WAA) BT # 7 248 5 B (BiiR)
AT BRpAERE FHE - M
B B & 2 1@ g 2@ 3@ BB
2 w %
E HE XA R S8 (BiR) S (BiR) S (BR) S (BR)
1 |[RIFnELEE (BR) o) 118 2T TR
ZEETITILTZ ) () R .
2 ke g
3 | (BR) NSSHUALE 2T TR
(BR) 1T B i 3E il 5
Qra 4,500,000
5 | OBR S () LSS TR
(BR) B Fripfi=s b .
S | s s frik
7| (B A2 ilB 3 E TR
8 | (W) EIRIR AR A s 6,600,000
(B By IR A ER AR
9 s 6,230,000
10 | [EIBEATEE (R 1B 305 TR
(BR) B M e 2 —liE
B pree. 17,000,000
12| (BR) NJSAili & =577 TR
13|k B ARBREEHEAR () 3,456,000
14 | BRESOR A (BR) L& 3 23,000,000
15| (BR) EY Sl 5% 3 7r 3,000,000
16 | B ALR & 126 (1F) TR
17 | BALBRBEBA R (BR) A& 3 9,800,000
18 | =X ABREE (1) AL S A 4,900,000
INUT 4T AP ILHA LT s
191 (k) sk S Ak Ak
20 |V TH () BE 3 E 9,800,000
o | OR) HAEY — R T3 B 2R

I




A S g
(BfHz: M)
# % ARLEAITE e iA (BLik)
T A R A B WA AFSEIZA9A  (EHEICES AL 10,723,000 &
AT (WAA) S #® " B EHIR 48 (Bidk)
BN LRERE B - &
B B & 2 1@ g 2@ 3@ BB
2 w o=
g wE XA S5 (Bitk) S8 (Bik) S8 (Bik) S8 (Bik)
(— ) (W RE b2 ir
2|0yt 4,700,000
PNEE S G =V I AN
23| (b el A 11,000,000
o | BR) = 1 A i B R R
BTN £
25 | () R Hffr = Yov 2ok
17,000,000
o |85 — () sl
b an
27| (BR) Y h—HP—b 2
2,950,000 AL
28| (k) Hhde 7V = A R AL S Sk
R
- BABRERT ROl HEZE
o 9,130,000
g0 | T ARAL T AL 22 ()
HAL AL F3R
31| ) T B A SR
AL 10,710,000




